Tu%daﬂ (550,

507 hundredths

6.07 = hundredths

Write as a 24-hour clock time

16 minutes after midnight. 0015
Wiite as a decimal 200 + = + B 20039
485472 + 10303 = 495 775
Find the value of x if 54 + 9 =30 + x 5
£1.00 — (four 10ps + nine 5ps) = p 15p
40° + 65°+ °=180° 750
= 125
486 = 10ps + 6p 48 10ps
ml x 10 = 2l 200mL

41 £234:6= p 390
77 4259+ 70g +87g= kg 0.582kg

Tues ¢ De.
i (B Answer

Add 5 to 72 54
Change these times to 12-hour clock
times using a.m. or p.m.
a 07:05 a 7.05 a.m.
b 23:20 b 11.20 p.m.
Decrease £1.34 by 40p. 94p
Write to the nearest whole number.
a 9% a 10
b 202 b 20
By how many metres is 1850m
less than 3km? 1150m
Find the total of fifteen 20ps
and twelve 10ps. £4.20
What is the difference in millilitres
between 21 and 580ml? 170ml
How many grams are equal to 0.3kg? 300g
How many degrees
are there in each
of the equal angles
at the centre of
the circle? 45°
%kg costs £1.60. Find the cost
of 100g. 32p
Find the area of a square with
sides of 40cm. 1600cm?
612 + y=6. Find . 102

1

1 By how many is 10? greater than 92? 19

2 How many

-2 tenths are equal to 50.6 a 506 tenths

“b hundredths are equal to 40.75? b 4075 hundredths

3 W The four
angles of any

quadrilateral
together
equal 360°.
Find in degrees the size of the angles
marked x. 130°
4 Seven nails have a mass of 50g.

How many nails have a mass of %kg? 70

5 Through how
many degrees
does the hour
hand of a clock
turn from noon

t0 4.00 p.m.? 120°

6 Write these numbers so that the
value of the digit 7 in each number
is 7 hundredths.

a 1607
b 97

~a 16.07
b 0.97

7 A right-angled triangle

contains an angle

of 55°. Find the size

of the third angle. 35°

/55

8 When a barrel is ¥ full it holds 16L.
How many litres will it hold
when 7 full? 40l

9 Find to the nearest kilometre
the distance by road from Batey

to Skipley. 20km

6™ ki
5 10km -
Skipley

Batey

10 A game which costs £17.50 is paid
for at the rate of 50p per week.
How many payments are made? 35

11 A bus runs at 20min intervals. If the
first bus leaves at 07:30, find the
starting time of the third bus. 08:10

12 What is the cost of kg 200g at
35p per kilogram? 42p
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